
Exercicios. Ecuacións grao 1                                                 Departamento de Matemáticas

ECUACIÓNS DE GRADO 1  1º- 2º ESO
1. 2x+3=x+4 1

2. 4x-10=2x+2 6

3. 9x+9+3x=15 1/2

4. 300x-250=50x+750 4

5. 17x-7x=x+18 2

6. 2’5x+0’5x=1’5x+1’5 1

7. 9y-19+y=11 3

8. X+2x+3-4x=5x-9 2

9. 2y+3y-4=5y+6y-16 2

10. 75z-150=80z-300 30

11. 3’3x+2’7x-4’6=7’4 2

12. 2x-3x+4x-5=6x-7x+15 5

13. 6x-4=14x-20 2

14. 7x-28=6x-1 27

15. 6-5x=4x-3 1

16. 6-3x=2-2x 4

17. 6+4x=10x-12 3
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18. 2x+3=2(x+5)-4 Incompatible

19. 3(2-3x)-4(x-5)=6x-25 51/19

20. 4(x-7)=2(x+1)-3x 6

21. (x-1)-(x-2)-(x-3)=0 4

22. (x-1)-(x-2)-(x-3)=0 6

23. 4(x+1)-3(x-2)+2(x-1)-x=17-x 3

24. 5(x-4)=3(x-2(x+7)) -11/4

25. x+2(x-1)=4 2

26. 3x-(2x-5)=12 7

27. 5(x-1)=4(x-2) -3

28. 3x-3+2(x-2)=x-3 1

29. 3(x-2)-16(2x-48)+x=-4 383/14

30. 2(4x+1)-4(5-x)-5=2(10-x)-12+3(5x-7) -10

31. 3(3x-5)-2(4-3x(-4(1-2x)=5(3x-2)+7 3

32. 5x+1+2(x+3)=4(2x-5) 27

33. 3(x+2)(5-3x)-(3-4x)(1+x)-2x+5x2=15-8x -3
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34. x(x-3)+(x-2)(x-3)+4=2(x-3)(x-4)-2 2

35. x(x+4)=x2+36 9

36. (x+1)(x+2)=x2+3x Incompatible 

37. 03
4

=−x 12

38. 142
3
1 +=+−− xxx 1

39.
2
1

2
134 −−=+++ xxxx -2

40.
60
23

65432
=+−+− xxxxx 1

41.
10
73

4
132

5
52 +−+=−− xxxx 3

42.
12
122

32
+=++ xxxx Incompatible

43.
5
2

754
)3(2 −=−− xxx 7

44. 7)2(2
5
)3(4

7
)1(3 −+=+−− xxx 6/83

45. 4
4
)6(31

3
)3(2 +−=−+ xx 18

46. 0
12

)6(17
4
)2(3

3
)1(2 =+−+++ xxx Incompatible

47.
10
3

5
)3(4

4
)2(3

3
)1(2 −−=−−− xxx 4

48.
2
79)2(6

6
)1(3)1(2 −++=+−− xxxx -22/27

49.
3
7

5
32)6(4

3
5 −−=−− xxx 4
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50. 6
2
32)5(3 =−+−− xxx 15

51.
2
1

6
)1(2

4
3

2
2 −=−−+− xxxx -2

52.
25

3
1

2
13 −=





 −++ xxx 1

53.
18
212

6
2

9
)1(2

6
4 xxxx −−−=+−+ 13/3

54. (x-4)2 = x2-40 7

55. (x-3)2 = (x+3)2-24 2

56. (x-3)2+40 = (x+7)2+200 -10

57. (2x-2)2 = 4(x+2)2 -1/2
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